BARS

R S RIS A A L R A S R S ST vk
0 SRR EFRERESARE | IS KBRS I
i T o e o o e
e = A -
: Q o EERESEETE
. o EEEEE
o BB, BE. SRS

o NHDEENE;

TE | e | WS | B | moE| L . (EueE| g2 5 =
bar psi

s WS
JILE

@mm mm g 14/78 /78

4052600003 300 4350 160°C 1/2"GF 6-M6x8 1-M6x8 20 28x42 50+100 80 1 4059900032 1
4052600004 300 4350 160°C 1/2"GF 6-M6x8 1-M6x8 30 28x42 50+100 80 1 4059900033 1
4052600005 300 4350 160°C 3/4"GF 6-M6x8 1-M6x8 30 35x62 60+130 250 1 4059900033 1
4052600018 = 300 4350 160°C 3/4"GF 6-M6x8 1-M6x8 40 35x62 60+130 250 1 4059900034 1
SNESETLENEN 4052600019 300 4350 160°C 3/4"GF 6-M6x8 1-M6x8 50 35x62 60+130 250 1 4059900035 1
4052600020 W 300 4350 160°C 3/4"GF 6-M6x8 1-M6Xx8 60 35%x62 60+130 250 1 4059900036 1
4052600021 [t 300 4350 160°C 1"GF 6-M6x8 1-M6Xx8 50 45%x66 80+150 380 1 4059900035 1
4052600022 = 300 4350 160°C 1"GF 6-M6x8 1-M6Xx8 60 45%x66 80+150 380 1 4059900036 1
4052600023 300 4350 160°C 1"GF 6-M6x8 1-M6x8 80 45x66 80+150 380 1 4059900037 1
RIEEHEaRS U00001030 1

IR RN



